EREM, 150 15407-1

W R - LR

W ORI

W EL Py 78 R SR

W SR A ] £
FERILEE TR

=> DVD-ROM I xdki.festo.com.tw

FESTO

Bl i g Y [t 5 2y R qnN [I/min] A A
A 02 A% 01
N2 FE 1 4 P 2x3/2 A 440 ... 500 950 ...1,000 P /oh
12,24V DC it
110, 230 VAC BB
Hh [ 47 BH VSVA 5/2 L4 P 500 1,000
24V DC EXT]
5/3 H; 4 P AR 450 ... 500 1,000
AL iR Y 450 ... 500 1,000
o HE SR R
EREEEE - 2w
Bl i g Y [t 5 2y R gnN [I/min] A A
Bik% 02 Btk 01
S 5/2 B 500 1,000 i
5/3 H A 4 PR R
HR AR AR AR
o HE SR R

2% — )T — Subject to change — Key products, GCC-TW

3-1

ISO 15407-1 (VDMA 24563)

w R RN

A
-



ISO 15407-1 (VDMA 24563)

w Ry A

-

B MN2H/JMN2H, 1SO 15407-1 FESTO
FEEN2H
Bk 02 01
I 8 1) 2x3/2 5/2 5/2 5/3 2x3/2 5/2 5/2 5/3
WRE | HARE  |gRE | WM WRE | HARE | BRE | WM
JRCHE 1,2,3,4,5 GYs GYASE R IR
12, 14 M5 M5
Ty X SE A JTE R b () 2 S LA
R [°q] —10 ... +50
IR °C] —10....+50 [ =5 ... +50 —10 ... +50 [ =5 ... +50
E2H - N2 B LG E
TR v DC] 24
VAC] 110, 230 (50 ... 60 Hz)
MERENI B DC W] 1.5
AC IVA] Yli: 3
4 2.4

R3S 4 o 4 EN 60520483 IP65 (BELid a4 A (4 FI )
218 3/2-way &

4 2 4 2
14 12 14 12

81|/8h 15 3 12/14 1 5 szI/u 3
4 4 2

82/84 1 5 3 12/14 1 5 82/84 3
4 2 4 2
14 10 14 10
t i ' )

szI/sn 15 3 12/14 1 5 82|/84 3
TR 2% CAD &%} 2 xdki.festo.com.tw
Btk 02 01
TAERE [bar] 2..10
PN 7R S SRR
TAERE S [bar] —09 ... +10 —09...+16
HMERESRR
R IR [bar] 2..10
L 2 E I & qnN [l/min] 450 950
BH / IBF Iz e B ] [ms] 15/16 20/33
ELiker 8 B
RIEE [mm] 106/18/70 | 108/27/71

3-2

Key products, GCC-TW — Subject to change — 5 — it




TE L MN2H/JMN2H, 1S0 15407-1

5/2-way B » BLARHE

84 513
148 513
84 513
14 4 2

148 543

14 4 2 PR
5;[&[[2% S RS
mEAE TR R

> BRI

FESTO

TR Rk CAD 2%} = xdki.festo.com.tw
Btk 02 01
ELEWES A S A SR
TAERE [bar] 3..10 2..10 3..10 2..10
P PSR R
TAERE [bar] —09... +10 —09... +16
SNSRI
LR 7 [bar] 3..10 [2..10 3..10 [2..10
3 2 U B QN [l/min] 500 1,000
RIEEEE [ms] 18/34 [23/27 24/58 [31/43
Bk ] 1B B
BIEE [mm] 108/18/70 [96/18/70 [109/27/71
5/2-way B > SRARE

14 4.2 1o e
el Shak: FRGESRA % o RESHAE

5138 gﬁ'ﬁ: Tﬁﬁﬁﬂ%

14 4 2 12

14 51382
TR Rk CAD 2%} = xdki.festo.com.tw
Btk 02 01
TAHERE S [bar] 2..10
P PSR R
TAERE [bar] —09... +10 —09... +16
SNSRI
R IR [bar] 2..10
3 2 E T B QN [l/min]  [500 1,000
360 R[] [ms] 16 18
Bk L]
RBlE/E [mm] 106/18/70 [108/27/71

2% — )T — Subject to change — Key products, GCC-TW

33

ISO 15407-1 (VDMA 24563)

w Ry A

N
-



ISO 15407-1 (VDMA 24563)

w Ry A

-

TE L MN2H/JMN2H, 1S0 15407-1 FESTO

5/3-way | » ISR

14 4 2 12 g
Hha: IRERER G REBE IR
513 82 BB TR
14 g 4 2 Eg 12
14 513 82
R Fa# CAD 3%} = xdki.festo.com.tw
Btk 02 01
TAERE [bar] 2..10
P PSR R
TAERET) [bar] —09... +10 —09... +16
AN
R IR [bar] 2..10
AR B E i # gnN [l/min]  [450 950
Be] / IBF) Iz e B ] [ms] 15/16 20/33
Eaikirid el
RI%/ 5 [mm] 106/18/70 [108/27/71

3-4 Key products, GCC-TW — Subject to change — 5§ — it



B MN2H/JMN2H, 1SO 15407-1 FESTO
Lp-Cin
|
itk 4
TERAME - H N2 RILRE A4 150 15407-1 (i
MN2H L4 P
JMN2H L
i)
MN2H
2x3G 21/ 3/2-way [ » HEH
2x30 2116 3/2-way ] > B
2x30-G 21/ 3/2-way [# >
LR PR » L PR
5/2-D 5/2-way [ > 4R
5/3G-D 5/3-way [ > Hr 2z P
JMN2H
5/2-D [ 5/2-way W > B4
HED
01 FLAIFF G 150 BEHE » HiA% 26 mm (01)
02 FLAIFF A 150 BEHE > HiA% 18 mm (02)
Bl 5= » FR5/2-way - HARER
- SRR
FR AR 3
MYUER
- ™
S Ak
THEE
- 24V DC
110AC 110 VAC
230AC 230 VAC
TEEH:
JMN2H-5/2-D-02-S-110AC
2% — )T — Subject to change — Key products, GCC-TW 3-5

ISO 15407-1 (VDMA 24563)

w Ry A

N
-



ISO 15407-1 (VDMA 24563)

-

MN2H/IMN2H, 1SO 15407-1 FESTO

- 2 3/2way

R CAD => xdki.festo.com.tw

=
=
N
=}
=
N
T
ﬁ @n @J Eg P{} . & ﬁ
B u ll@
U = €\'J @3 Lﬁ} = Il
| L1 |
EN 175301-803 C
ISO B1 B2 D1 H1 H2 H3 H4 L1 L2 L3 L6
02 18 12.5 M3 92 59.5 34 5 106 85 42.5 70
01 26.2 19 Mé 93 60.5 35 7 108 110 55 71

3-5.1 Key products - Subject to change



sg0cts



MN2H/IMNZ2H, 1SO 15407-1

5/2 way

FESTO

R =»A@ki.festo.com.tw
L6
—
=
— n
=)
@
=
- E
| ma| =
n__ | I
{ i Ppd,
[ ’ i :
i U 5
L3 D1 S
L2 B2
B1
1] 5
EN 175301-803 c
s &2
= RSl
U ég
| L1
| B1 | B2 | D1 | W W2 | W3 | Ha | Hs u | L L3 L6
ISO 02
MN2H-5/2-... 18 12.5 M3 92 59.5 34 5 39 95.5 85 42.5 70
MN2H-5/2-..-FR 107.5 97
ISO 01
MN2H-5/2-... 26.2 19 Mé 93 60.5 35 7 42 109 110 55 71
MN2H-5/2-..-FR
Subject to change - Key products 35.2

ISO 15407-1 (VDMA 24563)

3.

-


sg0cts



ISO 15407-1 (VDMA 24563)

-

MN2H/IMNZ2H, 1SO 15407-1 FESTO

5/2 way

R CAD => xdki.festo.com.tw

—
=
0
=)
T
N
ac
?
f—= N e — EN 175301-803 c
ﬂ*@“ @\ “@F[
: Sllol@ 2
(L 1}
| L1 |
SO B1 B2 D1 H1 H2 H3 H4 L1 12 13 L6
02 18 12.5 M3 92 59.5 34 5 106 85 42.5 70
01 26.2 19 M4 93 60.5 35 7 108 110 55 71

3-5.3 Key products - Subject to change



sg0cts



MN2H/IMN2H, 1SO 15407-1

FESTO

- 5/3way
R CAD => xdki.festo.com.tw
—
=
n
o
T
o~
T
_
ff—= @) [ e — 1 EN 175301-803 c
| n n
ﬂ @" @\J %Lg} "@., F[
1] Il
| Lt |
I1ISO B1 B2 D1 H1 H2 H3 H4 L1 L2 L3 L6
02 18 12.5 M3 92 59.5 34 5 106 97 42.5 70
01 26.2 19 M4 93 60.5 35 7 108 124 55 71
Subject to change - Key products 354

ISO 15407-1 (VDMA 24563)

3.

-


sg0cts



ISO 15407-1 (VDMA 24563)

w Ry A

-

TERL VSVA, IS0 15407-1 FESTO

FEEN2H

Bits 02 01

W DR 2x3/2 5/2 5/2 5/3 2x3/2 5/2 5/2 5/3
HaE | EgE | BRE | EH Mg | EgE | BRE | EH

I A 1,2,3,4,5 GYs GYa

TR SR IR 12,14 M5 M5

LHETT S JRE AR 1 2o AL

R [°C] —5...+50

IR [°C] —5...+50

2 - HEE

TAE & [V D(] 24

THAET) % DC (W] KM 2.4; /DB 1

TR H I LED BETEMN > BRAN W

2541 1EC60947-5-2 Hf RS - BTE - W H - BIJE

FHE T SRR B A T M8x1 M8x1 Ik M12x1

TR > 756 EN 60529 fHiE P65 (BiL{fh RS 4 & (o FHEE)

2f8 3/2-way B

4 2 4 2

T T &

15 3 12/14 15 3 <

4 2 as 2 ¢ ’
10 10 10 10

t i 3 2 -

15 3 12/14 15 3

4 2 a8 2
18 10 14 10

T4 3 12/14 15 3
(14)
TR Rk CAD 2%} = xdki.festo.com.tw
Btk 02 01
TAERE S [bar| 3.8
PN 7R S SRR
TAERET) [bar] 3..10
HMERESRR
TR [bar] 2.8
FHERE 2 i 1 gnN (l/min] {500 1,000
B A 2 I I 1] [ms] 10/22 20/33
ELiker 1 B
BIEE [mm] 108/18/57 | 113/27/67
3-6 Key products, GCC-TW — Subject to change — 5 — it




TEHL VSVA, 1S0 15407-1

5/2-way B - BLRHE
14 4 2 R
513
14 4 2
13
2

EANIPA

14 5

S SRS

WE A T iERE

> BRI

FESTO

14 513
ek R CAD %%} = xdki.festo.com.tw
Btk 02 01
Ji 7 7 20 A [ e, [
TAHEREH [bar| 3.8
P 7R SR
TAERE S [bar] —09...+10 —09...+16
SNSRI
R IR [bar| 3.8
L 2 E i & qnN [l/min] 500 1,000
BH /A R ] [ms] 12/34 [20/25 20/52 [ 25/40
Bk ] EEIL
BIEE [mm] 108/18/57 |113/27/67
5/2-way B > SRARE
14 42 1w R
EZIK[[?T]Z% Shide: DESSSR 4 4 > TR

ik S TR .S

14 4 2 12 \,\;)'

14 513 ’
s R CAD %%} = xdki.festo.com.tw
Btk 02 01
TAHERE S [bar| 3.8
PR 7R L SRR
TAERE S [bar] —09...+10 —09...+16
SNSRI
R IR [bar| 3.8
L 2 E i & qnN [l/min] 500 1,000
B/ A I e B ] [ms] 10 15
Bk I
BIEE [mm] 108/18/57 |113/27/67

2% — )T — Subject to change — Key products, GCC-TW

3-7

ISO 15407-1 (VDMA 24563)

w Ry A

N
-



ISO 15407-1 (VDMA 24563)

w Ry A

-

B VSVA, IS0 15407-1 FESTO

5/3-way | » ISR

14 4 2 12 R
Hhak: EREG SR G 4 RERTRNR
513 R TR
mg 4 2 gn
14 5413
TR Rk CAD 2%} = xdki.festo.com.tw
Bits 02 01
TAERE S [bar| 3.8
P 7R S SRR
TAERET) [bar] —09...+8 —09...+16
HMERESRR
R IR [bar] 3.8
L 2 E i & qnN [l/min] 450 1,000
B [ 2 JE I [ [ms] 15/36 20/52
ELiker 8 B
BIEE [mm] 108/18/57 | 113/27/67

3-8 Key products, GCC-TW — Subject to change — 5§ — it



B VSVA, IS0 15407-1 FESTO
ERR
[ VSvA L
piilk
VSVA [ M > #54150 15407-1 i
i/l 8
B | Vi ]
ez
T32C 211 3/2-way BLARIE M - H BH
1320 2 3/2-way HLARREI - HBH
T32H 211 3/2-way HLALE [
VA LR B
M52 5/2-way [ > HLAR
B52 5/2-way [ > B4R
P53C 5/3-way i » Hr{ 4B
[0 = » PR B 4 I O [ T R
- AR 5/3-way [
A SRR
M T [1]
MWEFR
- M
Z Ak
FHEE
H A
EEO
A1 FLEURF A 150 HE#E > #14%26 mm (01)
A2 FLEURF A 150 HZ#E > #4%18 mm (02)
THEERE
1 |24VDC
BF
R2 fHEH > M8x1
R5 W9 > M12x1
B
L |LED iR
(1] 58 R 5/2-way I ©
(2] 133 AT & ISOREME [ E B2 1 AL A% 26 mm (01) ©
BB
VSVA-B-T32H-AZH-A1-1R5L
2% — )T — Subject to change — Key products, GCC-TW 3-9

ISO 15407-1 (VDMA 24563)

w Ry A

N
-



ISO 15407-1 (VDMA 24563)

-

VSVA, ISO 15407-1 FESTO

- 2x3/2 way
R CAD => xdki.festo.com.tw
44.85 4475
M8x1 M12x1
; ” i ] ]
g 5@ 2 H i
4 L T 3| B R i
mn niwmn
i 4
" © u) - < )
m M4 Il
19101 19 01
26.3 26.3

56.75

47.55
49.79

31
ASY
s
g
(o¢)
o
5.4

(LED)
1
2 + 12
3 -
4 + 14
2 + 12
4 + 14

3-9.1 Key products - Subject to change


sg0cts



VSVA, ISO 15407-1

FESTO

- 5/2way
R CAD => xdki.festo.com.tw
44.85 4475
M8x1 M12x1
; ” & . ]
Do S n|©
4 4 N NS) O| «©
mn niwmn
i 4
" 9 L —% ) T
m %3 M4 Il
1901 110.7 19 01
26.3 1125 26.3

56.75

47.55
49.79

31
ASY
s
g
(o¢)
o
5.4

B~ w N e

Subject to change - Key products

—_~
+

~— ~—

14

14

3-9.2

ISO 15407-1 (VDMA 24563)

3.

-


sg0cts


ISO 15407-1 (VDMA 24563)

-

VSVA, ISO 15407-1 FESTO

- 5/2way
R CAD => xdki.festo.com.tw
44.85 4475
M8x1 M12x1
; ” & . ]
g 5@ 2 H i
i 45 R 8| B 4 S|lw
mn niwmn
i 4
" © u) - < )
m M4 Il
19101 19 01
26.3 26.3

T U [
1 e
R | | B
N
1 ; m 1 =
m 23l \[3]
107.8 -
© |0, [ ©
(LED)
1
2 (+) 12
3 -
4 (+) 14
2 (+) 12
-)
4 (+) 14

3-9.3 Key products - Subject to change


sg0cts



VSVA, ISO 15407-1

FESTO

- 5/3way
R CAD => xdki.festo.com.tw
44.85 44.75
M8x1 M12x1
; ” & . ]
Do S n|©
4 4 N NS) O| «©
mn niwmn
i 4
" 9 L —% ) T
m %3 M4 Il
19:01 110.7 19101
26.3 1125 26.3

56.75

47.55
49.79

31
ASY
s
g
(o¢)
o
5.4

B~ w N e

Subject to change - Key products

—_~
+

~— ~—

14

14

3-9.4

ISO 15407-1 (VDMA 24563)

3.

-


sg0cts


ISO 15407-1 (VDMA 24563)

w Ry A

-

EREA, 1S0 15407-1 FESTO

ERUHRE - BEEE R

Eﬁc > HIE
PREHIEEAQS » AN B B A A AME A - £F15 CETOP RP 54P fH % 5-164
LIRS JEE NAS T B 01 3-12
U BT 8% » N 2 3E i HERAL 5-195
F % 5 AHB-MEB T4l 2 312
HEAG 1BS-9x17 » ARk 51 MN2H 1 312
6] FEAKA MN2H » FH S sl 42 45 3-12
6L B4 MEB-LD » i B 5 5 W IR BB 312
JfG & MSSD-EB 312
[o] E. B4 E KMEB 3-12
ELE IR AEAN LED > FATR B 715 95k & KMEB-...-LED 312
R MN2H LI 4 1S0 1540718 3-2
HE B > [P G5 M12x1 5 M8x1 312
LA 1BS-9x20 » AT A ik 5T 1 VSVA 312
TEREM VSVA » FLEIFF A 150 15407-1 fE % 3-8

3-10 Key products, GCC-TW — Subject to change — 5 — it



FESTO

EREA, 1S0 15407-1

(€9S7TYWAN) 1-£07ST OSI
bl el

ERTUAEE - BT g

3.1

=] ||
B2 ] (]2 ]B ] ]w
N YN S Y R N N Ny s

12

R

)

m

=

K

H

#

=

1

=

=

&

g

=

o

23
o | B |vm
= iz 2[5
A .ﬁn.ﬁn
N [= =4
Els [E
Ea =
e = | = S1E
= WEM MM
35 SIEEIE e
& uﬁ%%ﬁ 2|3
ﬁ/ﬂuﬁbﬁmﬁﬁ/LDAuAu
| |2 2FEEE e
54 ﬂ%%@%ﬁﬂw
2l ¢z BEEERS
- Hmﬁmmﬁmm,q
el %) G 1ol Il Il P Tl
9 E e == oS
Sle[t 222 E[EE|2
H | o B | B[ e ==
= | |
B || |- [ | = [ |

i+

2 [~ [ [<] [ [l [N [ [=][E]

3-11

2% — )T — Subject to change — Key products, GCC-TW



ERM, 150 15407-1

FESTO

ISO 15407-1 (VDMA 24563)

w Ry A

[y

ATEERER - R ATERER — RN A N2 BRI
B EE | REEO|LED | mk
SR AR IS JRE [m]
P 02 NAW-Y6-02-VDMA 246V DC 2.5 B | KMEB-2-24-2,5-LED
' 5 B | KMEB-2-24-5-LED
Upto 2.5 KMEB-2-230AC-2,5
01 NAW-%4-01-VDMA 240V |5 — [KMEB-2-230AC5
ATEERER - Botwats » AR N2 BRgiE
5 JiE 5%
~ 12... 24V DC MEB-LD-12-24DC
02 NEV-02-VDMA N
&% 230V AC MEB-LD-230AC
01 NEV-01-VDMA RN - FiEEE
FA HIGE
MN2/JMN2 AHB-MEB
FRR AR o R AR B 02 1 01 Y SR Al JFE JAE
02,01 NZV-%4-01/02-VDMA
R - sk
5%
/“ FHIR A A 4% 1BS MN2H-BZT-10X
P (Bt £ [ 9 (04510 )
Q
02 NDV-02-VDMA R
5%
01 NDV-01-VDMA F, IR | 1BS-Ox17
(& =1 DU A 4%)
IBS-9x20
bTi:e HIGE
ATHE R - R B B2 4% VSVA
02 NAS-1/6-02-VDMA =y Ay g
(m]
o1 TETTEGIT 2.5 M8x1 SIM-M8-4GD-2,5-PU
) M 5 SIM-M8-4GD-5-PU
ﬁ 25 SIM-M8-4WD-2,5-PU
5 SIM-M8-4WD-5-PU
5 M12x1 SIM-M12-4WD-5-PU

HTRERON - R - RIS N2 ERE AR

Key products, GCC-TW — Subject to change — 5 — it

#I4%
HIZ4s MSSD-EB 1 M12x1 KM12-M12-GSWD-1-4
% @M 2.5 KM12-M12-GSGD-2,5
MSSD-EB-M12 5 KM12-M12-GSGD-5
H i B MSSD-EB-S-M14




, 1SO 15407-1

FESTO

H3 H1
NAS
~ o= FO ] [é;:l:
e TANg [C 1 e
| S sH |©
) 1
5 N/ P TP o 4 A
— \3’9 )= Do ) I\ Ly
O ol <]
¢ e H |©
OB = |
N a
& -
591 -0 @
H4 B2 Hé
HS B1 H2
I1ISO B1 B2 D1 D2 D3 H1 H2 H3 H4 H5 H6
@
02 28.5 18 GYs M5 5.5 31 10 5 7 20 14.5
01 46 26 GYa4 GYs 5 38 12 6 10 25 19
I1ISO L1 L2 L3 L4 L5 Hh
(g]
02 79 66.5 17 40 32 67 161115 NAS-1/8-02-VDMA
01 102 89.4 23 55 %) 160 161109 NAS-14-01-VDMA
SO 02 01
2
e 1,2,3,4,5 G2 Vi
12,14 M5 GY8

Subject to change - Key products

3121

ISO 15407-1 (VDMA 24563)

3.

[y


sg0cts



ISO 15407-1 (VDMA 24563)

[y

, 1S015407-1 FESTO

R - 2%k CAD => xdki.festo.com.tw
4
B3 H
D4 fo
T
@[ m|e m
| | |
D
2\
he] I m ol roul
e e .
G) - \
\J =
B4 D1
B6
BS HS .,
L=l B t@‘ o ~le o P |
& 1T /':\\ N~ NEV-...-VDMA
~ - o~
- ol ol | E 5 ) & >2/11-48
3 |— @g} @g:& G:EE;E& —I ol 1Y i 9
L oa R R T
a| leoslosecs| fal 15 | ] /C) 5 - o
L ~ | L =) 2 /1.1-48
@Leﬁ» o |o J s gl =
o = |= |= P //‘N (A NAW- ...-VDMA-VL
- N\ >2/11-48
; %J _
———— —Zy — —~ —
S e s > NDV- ..-VDMA
H4 )
] e
5
B1 B1 B1 B1 B1 H1 NRH-35-2000
>2/7.81
,é Q,
o
T
Ne)
T -
i G- T R
gl % ° -
711 02 U-3/-B
D4 DS 3
B2 D6 5
ISO B1 B2 B3 B4 BS B6 D1 D2 D3 D4
02 19 6 13 7.5 1 45 GY8 G¥8 GY8 M5
01 27 21 21 11 4 8 Y4 GY2 GYs M5
ISO D5 D6 D7 H1 H2 H3 Ha H5 Hé H7
02 3.3 6.3 43 55 17 28.8 18.5 - 48 10.5
01 4.2 8 4.2 65 27.5 28 15.5 3 57.5 12,5
ISO H8 H9 H10 L1 L2 13 L4 L5 L6 L7 L8
02 35.5 12 40 81 36.5 5.6 30.9 20 20 18 18
01 42.5 14 37 107 50 7.5 37.5 303 283 33 26.8

3-12.2 Key products - Subject to change



sg0cts





